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B.Sc. (Part - I) Examination, 2022
(New Course)
CHEMISTRY

PAPER SECOND
(Organic Chemistry)

Time : Three Hours] [Maximum Marks:33

 




Note :Attempt five questions in all, by selecting one
question from each unit. All parts of a ques-
tion should be answered in one place only.
Your answer should be precise and to the
point. Marks are shown against each ques-
tion.

P.T.O.
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1 / Unit - 1

1.  C - C 

(i) 1.54 Ao

(ii) 1.39 Ao

(iii) 1.31 Ao

(iv) 1.21Ao

C - C Bond length in Benzene is -

(i) 1.54 Ao

(ii) 1.39 Ao

(iii) 1.31Ao

(iv) 1.21Ao

 
 

Why Aniline is less basic than cyclo hexanamine?

  

i 
ii 
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Short notes on-

(i) Carbenes

(ii) Nitrenes

 / OR

  

i SP
ii SP2

iii SP SP2

iv SP3

Hybridisation of each carbon atom in 1,3-
butadine is-

(i) SP

(ii) SP2

(iii) SP & SP2

(iv) SP3

  

What is steric effect?

P.T.O.
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  

How many kinds of Organic reactions are known?
Explain with suitable examples.

2 / Unit - 2

2.  
 

i 
ii 

iii 

iv 

Which one compound shows geometrical isom-
erism?

(i) Lactic Acid

(ii) Malieic Acid

(iii) 1,1 - Dichloromethylene

(iv) Butene

  

What is epimer? Explain with suitable example.
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  

Explain briefly Fischer & Newmann formula.

 / OR

  

i 
ii 

iii 

iv 

No. of optical isomers of Tartaric acid is-

(i) Four

(ii) Three

(iii) Two

(iv) One

 RS

Briefly explain R, S nom enclature method with
suitable examples. 3

  

[6]

F- 3606

Explain different methods of resolution of race-
mic mixture.

3 / Unit - 3

3.  
 

i 
ii 

iii 

iv 

Which form of glucophyranose enomer is most
stable-

(i) - Enomer

(ii) - Enomer

(iii) Both are equal

(iv) None of the above

 
 

Express relative stability of methyl cyclohexane.
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  

i 


ii 

Write short notes on the following:

(i) Energy profile of conformation of ethane

(ii) Limitation of Baeyer's strain theory.

 / OR

 n -  

i 
ii 

iii 

iv 

Unstable conformation of n-butane is-

(i) Eclipsed

(ii) Staggered

(iii) Complete Eclipsed

P.T.O.
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(iv) Complete Staggered

 
 

What is Banana bond? Explain by using cyclo-
propane and cyclobutane as reference com-
pound.

 

Explain Baeyer's strain. 3

4 / Unit - 4

4.  KMnO4
 

Explain reactions between Acetylene with  Acidic
& Basic KMnO4

 
 

Short notes on 1, 2 - & 1, 4 - additive product.

 
 
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Give reason why Acetylene make metal deriva-
tives butethylene does not?

 / OR

 
 

Explain briefly electrophilic addtion reaction in
Alkene with example.

  

(i) 3

2
3 2 /

O

Zn H OCH CH CH

(ii) 2
3 2 480o

Cl

C
CH CH CH

(iii) 3+AgCHCl 

(iv) 3CH CH AsCl

Complete the following reaction-

(i) 3

2
3 2 /

O

Zn H O
CH CH CH

3A s C l

P.T.O.
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(ii) 2
3 2 480o

Cl

C
CH CH CH

(iii) 3+AgCHCl 

(iv) 3CH CH AsCl

5 / Unit - 5

5.  
 

Why Cyclopentadienyl Cation does not behave
like aromatic compounds?

  

i 

ii 

Short notes on-

(i) Nitration in Benzene

(ii) Birch reduction

 

3A s C l
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Explain nucleophilic substitution reaction mecha-
nism in Benzene. 2

 / OR

  

(i) – NO2 

(ii) – OH 

(iii) – NH2 

Explain why-

(i) – NO2 group is meta directing?

(ii) – OH group is O & P directing?

(iii) – NH2 group is activating group?

 (4n + 2)  

Briefly explain (4n + 2)  rule.


